
SAP ABAP table MCISEG {CS: Physical Inventory Document - Item Segment}

MCISEG

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

CHARG [CHAR (10)]

SOBKZ [CHAR (1)]

BSTAR [CHAR (1)]

KDAUF [CHAR (10)]

LIFNR [CHAR (10)]

KUNNR [CHAR (10)]

MEINS [UNIT (3)]

ERFME [UNIT (3)]

WAERS [CUKY (5)]

ABCIN [CHAR (1)]

PS_PSP_PNR [NUMC (8)]

GRUND [NUMC (4)]

SAMAT [CHAR (18)]

EKORG [CHAR (4)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

BZIRK [CHAR (6)]

EKSGB [CHAR (4)]

EKGRP [CHAR (3)]

DISPO [CHAR (3)]

LTSNR [CHAR (6)]

ABTNR [CHAR (4)]

MATKL [CHAR (9)]

PRDHA [CHAR (18)]

SATNR [CHAR (18)]

AKTYP [CHAR (4)]

AKTHE [CHAR (4)]

PLGTP [CHAR (2)]

SAISO [CHAR (4)]

BWVOR [CHAR (1)]

BWSCL [CHAR (1)]

SERVG [CHAR (1)]

GEWEI [UNIT (3)]

VOLEH [UNIT (3)]

LANDLF [CHAR (3)]

RLIFN [CHAR (10)]

LAND1 [CHAR (3)]

WMINR [CHAR (10)]

MTART [CHAR (4)]

KOLIF [CHAR (10)]

STRNR [CHAR (18)]

WKUNNR [CHAR (10)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 MCISEG-KUNNR = KNA1-KUNNR 

0..N

{0,1}

 MCISEG-WKUNNR = KNA1-KUNNR 0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 MCISEG-KOLIF = LFA1-LIFNR 
0..N

0..N

 MCISEG-LIFNR = LFA1-LIFNR 0..N

{0,1}

 MCISEG-RLIFN = LFA1-LIFNR 

0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)] MCISEG-MATNR = MARA-MATNR 0..N

{0,1}

 MCISEG-SAMAT = MARA-MATNR 

0..N

0..N

 MCISEG-SATNR = MARA-MATNR 

0..N

0..N

 MCISEG-STRNR = MARA-MATNR 

0..N

0..N

MARC

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

 MCISEG-WERKS = MARC-WERKS 

0..N

{0,1}

MARD

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 MCISEG-LGORT = MARD-LGORT 0..N

{0,1}

MCHA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

CHARG [CHAR (10)]

 MCISEG-CHARG = MCHA-CHARG 
0..N

{0,1}

PRPS

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

 MCISEG-PS_PSP_PNR = PRPS-PSPNR 

0..N

1

T000

MANDT [CLNT (3)]

 MCISEG-MANDT = T000-MANDT 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 MCISEG-LAND1 = T005-LAND1 

0..N

0..N

 MCISEG-LANDLF = T005-LAND1 0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 MCISEG-ERFME = T006-MSEHI 
1..N

1

 MCISEG-GEWEI = T006-MSEHI 0..N

0..N

 MCISEG-MEINS = T006-MSEHI 

1..N

1

 MCISEG-VOLEH = T006-MSEHI 

0..N

0..N

T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]

 MCISEG-MATKL = T023-MATKL 

0..N

0..N

T024

MANDT [CLNT (3)]

EKGRP [CHAR (3)] MCISEG-EKGRP = T024-EKGRP 0..N

0..N

T024D

MANDT [CLNT (3)]

WERKS [CHAR (4)]

DISPO [CHAR (3)]

 MCISEG-DISPO = T024D-DISPO 
0..N

0..N

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 MCISEG-EKORG = T024E-EKORG 

0..N

0..N

T026

MANDT [CLNT (3)]

EKSGB [CHAR (4)]

 MCISEG-EKSGB = T026-EKSGB 

0..N

0..N

T064B

SPRAS [LANG (1)]

BSTAR [CHAR (1)]

 MCISEG-BSTAR = T064B-BSTAR 

0..N

{0,1}

T134

MANDT [CLNT (3)]

MTART [CHAR (4)]

 MCISEG-MTART = T134-MTART 

0..N

0..N

T148

MANDT [CLNT (3)]

SOBKZ [CHAR (1)]

 MCISEG-SOBKZ = T148-SOBKZ 

0..N

{0,1}

T157D

MANDT [CLNT (3)]

BWART [CHAR (3)]

GRUND [NUMC (4)]

 MCISEG-GRUND = T157D-GRUND 

0..N

{0,1}

T159C

MANDT [CLNT (3)]

WERKS [CHAR (4)]

ABCIN [CHAR (1)]

 MCISEG-ABCIN = T159C-ABCIN 

0..N

1

T171

MANDT [CLNT (3)]

BZIRK [CHAR (6)]

 MCISEG-BZIRK = T171-BZIRK 

0..N

0..N

T179

MANDT [CLNT (3)]

PRODH [CHAR (18)]

 MCISEG-PRDHA = T179-PRODH 

0..N

0..N

T6WP1

MANDT [CLNT (3)]

BWVOR [CHAR (1)]

 MCISEG-BWVOR = T6WP1-BWVOR 

0..N

0..N

T6WP2

MANDT [CLNT (3)]

BWSCL [CHAR (1)]

 MCISEG-BWSCL = T6WP2-BWSCL 

0..N

0..N

T6WSP

MANDT [CLNT (3)]

SAISO [CHAR (4)]

 MCISEG-SAISO = T6WSP-SAISO 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 MCISEG-WAERS = TCURC-WAERS 

0..N

1

TSAB

MANDT [CLNT (3)]

ABTNR [CHAR (4)]

 MCISEG-ABTNR = TSAB-ABTNR 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 MCISEG-VKORG = TVKO-VKORG 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 MCISEG-VTWEG = TVTW-VTWEG 

0..N

0..N

TWAT

MANDT [CLNT (3)]

AKTHE [CHAR (4)]

 MCISEG-AKTHE = TWAT-AKTHE 

0..N

0..N

TWPT

MANDT [CLNT (3)]

PLGTP [CHAR (2)]

 MCISEG-PLGTP = TWPT-PLGTP 

0..N

0..N

TWSG

MANDT [CLNT (3)]

SERVG [CHAR (1)]

 MCISEG-SERVG = TWSG-SERVG 

0..N

0..N

TWTY

MANDT [CLNT (3)]

AKTYP [CHAR (4)]

 MCISEG-AKTYP = TWTY-AKTYP 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 MCISEG-KDAUF = VBUK-VBELN 

0..N

{0,1}

WWMI

MANDT [CLNT (3)]

WMINR [CHAR (10)]

 MCISEG-WMINR = WWMI-WMINR 

0..N

0..N

WYT1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

LTSNR [CHAR (6)]

 MCISEG-LTSNR = WYT1-LTSNR 

0..N

0..N


